A £ 0 &

At

Al A

SA MR A
M FUHE 2o
el S88 NME2Y (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
KIS 2| H 3,098,647 4,628,888 21,530,241
= 68,602
= 3,030,045
ANZAE =2 426,842 391,4% 35,347
= 46,000
[Ea 380,842
228 NE=2Y 301,382 286,825 14,557
= 46,000
s 255,382
KAl AIE et 33,449 40,901 NT,452
201 er23 | 25,234 32,390 AT,15%6
01 At2teltl 23,640 16,884 6,756
o XA a8 50,0002 =212 1,050
oA &= oied 100,000 7 700
o XAl ZAIMSR & GHA A
50,0002 +72 350
SXIEA 5 B8 ZUINC U AHHEE)
77,0003 20K 1,540
SXAAAR S (UM AAL, BAIE
Zalo| AUE Al S) BaaY
70,0002 102 +23] 1,400
SXIYH HELRE 22 Sz
8,0002 x5 +90! 3,600
cHRLLEYR geoas]
600,000& x25H 15,000
2 ZZ2H| 1,59 15,506 A13,912
SXIYAl TXM L OHIS wa SHR3
4303 +3,0000HK 1,290
SZNET HHDXM SZ(SI)
2,530+ 1001 * 122 304
202 04l 3,200 3,800 A600
01 2LHoIH 3,200 3,800 2600
oltMITtE A & 2HAME g=
20,0002 x4 30 2,400
ol MR A 20,0008 x2& »20 800
306 EX= 5,015 4,711 304
01 £g= 5,015 4,711 304
oXgNeAE 2
5,015,000& 1A 5,015
KA a2 X 132,255 131,749 506
201 er23| 9,400 24,400 A15,000
01 At2tltl 6,400 18,400 A12,000
oA EEE =115 el EY S 42
= 300,000 *8H 2,400
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SA MR A
BH: NYHE 29
el 228 ME2Y (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
oM E¥& ZElE(SED]) HIE ni
400,000 x15+62 2,400
o NgA =28 MM IXAN M 1,600
-2 g IXA 80,0003 *102 A 800
-=Sg1XAM 80,0003 *102 A 800
02 S5=g4l 3,000 6,000 /3,000
oIAAN EHE ZBIH(SEI) |AEs
500,000 62 3,000
308 AHAIEMSOIE 62,855 41,443 21,412
11 S| 2S04 HASAIE 62,855 41,443 21,412
SXIHITH TEA HPAAL SH(SX4)
59,323,000 * 14! 59,323
o XAl HESIAIY 21 2]
3,532,000 *14] 3,532
405 AHatE = 60,000 60,000
01 MMM ESFSHI 60,000 60,000
SAAN =S ZBIH(SEI)
60,000,000 1CH 60,000
NN SUHS 38,907 38,907
201 et 3| 37,307 37,307
01 AtR2tc|bI 29,448 29,448
oXgAl XA X HH2 HIE
88,0003 *308} A%65 15,840
oXIYAl A0 U8R 222 N
77,0003 1204 +73] 6,468
XYM FNYR ZX ALEE
15,0002 105122 1,800
olXIAN £8&8 Z2gH EH § A28
300,000 5H 1,500
SXUAM FAHER =& SEY
8,000& x4& 120 3,840
02 S3=gHl 7,859 0 7,859
oA DA & SHEZ &S 2RSS 7,715
-2 fH 4302 *15,0000H 6,450
-S| fH# 2,530 «5000H 1,265
oXILASA &1 2 2HteetE &5
2= 1203 *1,20021 144
202 048l 1,600 1,600
01 2L A 1,600 1,600
CFULR0 HE HMIZE EA
20,0003 x4 »20! 1,600
HE & DFAZAL ALY 96,771 97,8% 1,085
= 46,000
= 50,771
201 er23 | 96,371 97,2% A885
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SN NP2 A D
M NYNE 28
el 288 NEEY (SH9 H2)
RA B - SRA(E) - MIRA - BES ofl &4 G o HIDEY
= 46,000
s 50,371
01 AtR2telbl 96,371 97,25% A885
oXel MFIIH AZLAR S
5,900 *14,000=*110% 90,860
= 45,000
2 45,860
SOlARE TN ABA4R S
7,300 *50= *110% 402
= 200
T 202
o0l ddE FEIIA B2 S
17,0002 %205 *110% 374
= 100
= 274
OFEIIAZAL ARES(EH 8)
250,000 +8H 2,000
= 700
T 1,300
olExe 8 BP3IE S
77,0003 = 15K 1,155
oFEDIY BSAIIABANE 2E4Y
S 70,0003 x9 & #22] 1,260
oxeplz Y2Ex 3l S
8,000 x2H »20 320
202 04| 400 600 2200
01 2L AL 400 600 A200
SHEEEH IAZTAl
20,000 »2& %102 400
KAl E==2tel 125,460 104,670 20,790
KA =25 &N 86,300 76,180 10,120
201 =3 60,300 52,180 8,120
01 AFS2t2ltl 20,25 20,256 0
oMit 2 EA SO(GHA) S ===
120,000 *30AH 3,600
SREH S HAHE 248
80=+30,00024 2,400
oXEgA SEHE) XM X S MA
72,0002 *80H 5,760
oXgA Mg = S22 S MH
77,000 * 1204 924
oSE(ME)DXM &8 ZEHEH S MR
== 250,000 = 187K 4,500
oXLA B4YR S X I
8,000 »3H » 1282 3,072
02 S3=2g4l 40,044 31,924 8,120
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SA: MDD
33 NN =29
Rl XA Z2tcl (Gt H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
oNgA Sas SAA S &€ 28RS
430R1%2,40021 1,08
SXUH SEZ S 82 BRI
2,530 4,400 11,132
oMLY HSE ADE FXAIAE FX
2] 660,000& * 122 7,920
oHMEXE HaSm AQIE HIIAAE S
23 35,0003 x 122 420
oHYEE SEECIANAY FX B4
220,000& * 128 2,640
SIAIF S=LAIAE XA CHOBOI 2t
16,500,000 *13] 16,500
oMEAE AGE SXIAIAE SH2I| 02
400,000 12 400
202 048l 2,000 2,000
01 2L AL 2,000 2,000
STIYA A4e2 S 27
20,0003 x23 50! 2,000
303 Zal= 22,000 22,000
01 Za= 22,000 22,000
SKTM = P+ 5 -8 L= 22,000
=8 SclJ| F& 11,000,000& * 12} 11,000
-HgH =010 F& 11,000,000 *12] 11,000
405 AtaHE = 2,000 2,000
01 TR =S FISHI 2,000 2,000
oMY XY HSE ADE FXAIAE S
7 2,000,000& 2,000
Nel+=g 2el 39,160 28,490 10,670
201 er23| 7,960 8,266 A306
01 At2teltl 7,960 8,266 A306
SHIIHR AT S 42
803 12,5004 1,000
oM+ DAAM, ZelH EH S MRES
72,0002 48K 3,456
oM+ 4 EE22 S MA(EHSY,
2he) 82,5003 * 1204 990
oN+g ASO0IM SRAAE 018=
34,5003+ 122 414
SIIRDE AN MY
70,0002 x5 +63] 2,100
202 04| 1,200 1,200
01 =LHO LI 1,200 1,200
oH2l+e Ea o2 27
20,0003 28 »30 1,200
308 AHXIEMSOIE 30,000 19,024 10,976
1 SIS0t EAS A 30,000 19,024 10,976
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33 NN =29
Rl XA E =2t EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
SXAIU Mel+e JEALE FAE
30,000,000& x13] 30,000
JURSJeages 131,512 163,542 A22,030
A= 112,792 133,222 A20,430
Hel & A=Y 112,792 133,222 A20,430
201 =3 79,192 97,142 A17,950
01 At2t2ltl 64,192 62,142 2,050
SZMH Y 2ENE S0
150,000 100 15,000
o3 HHRE Tl EW 7Y
250,0003 *25H 6,250
SNt U BN RN 7
61,0003 x5 +43] 1,220
o=JHEEX 2¢ 20,0002 x4+ 122 960
olLi2tEE 018 =2 (F)
20,0003 #5402 10,800
oMMtz E¥E Sl 7Y
25,0002 108t A% 123 3,000
oHE N2EE 7Y
20,0003 55122 1,200
SHtMlPIAS| EASY
70,0008 x7H 53] 2,450
eI NE LN
130,000 x5 20! 13,000
cZUMTA AIRES 78
1,000,000 14| 1,000
oRAYR = SEH|
B.0001+62<E52 4,080
oZ4HAA UEdHl =8 S8l
8,000 6 56 2,640
oQUTA N2FH =X 22|
8,000 6 542 2,592
2 s5=34l 15,000 35,000 220,000
SH - HAMAL - B2 TR |1
B 58,0002 1224 6,696
ootNBAL 2208 RAE+
346,000 122 4,182
SHATE DIWAIAE S22
346,000 122 4,152
202 04t 1,600 4,080 2,480
01 =LHOHI 1,600 4,080 2,480
oHotne 92 =1
20,0003 x4 »20 1,600
203 =4l 32,000 32,000
03 A=A 2= 32,000 32,000
SNYME =& L A 27
7,000,000& x4=2 7| 28,000
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FA MR A
Zu: e
&2l SIAH2HE (SH &)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
|| esbige x8 5 1,000,002 x4 4,000
SA2)| 29 18,720 20,320 /1,600
S48 28 18,720 20,320 /1,600
201 er23y| 17,920 17,920 0
01 AtR2t2|HI 17,920 17,920 0
STURE DN HE +42
16,000, 0002 *13] 16,000
o=AR)| A2 X Iz
8,000 432 +502 1,200
o=AR)| 24 BSHY 2N 3|
8,000 x6& * 15 720
202 048l 800 2,400 21,600
01 2L AL 800 2,400 21,600
o=AR)| ST SYAH &
20,0003 28 »20! 800
THatzte| 2,363,482 3,903,652 1,540,170
SSLE 2| 217,770 294,859 AT7,089
SSAE 2el 197,250 270,564 NT73,314
201 fer23y| 192,450 176,564 15,886
01 AtR2t2|HI 19,050 19,900 A850
oZEXY N=EEZ SH0IA JtE &
100,000 *5CH*42] 2,000
oZBEXY HIIZA =2
30,000 x25LH*12] 750
oEZEXY 20l HE HEEI ===
350,000 *32] 1,050
oZEXE 20l HE LYEES ===
200,000 *5CH 1,000
oZEIE 242BS 7
50,0003 *25CH 1,250
olctgr 2HERE # IS AU &
4 3| 7,000,000 *12] 7,000
oRUIRE SEE 28 =M SEHI
8,000 x4 125 4,000
ool & Atz (15208 8)
250,000& *82 2,000
2 35234l 173,400 156,664 16,736
oEEXY ASIHAl 100,000 »83CH 8,300
oZEAEY 282 700,0002 *102CH 71,400
oSS 2FNE RFE=
50,0003 »20CH 1,000
oZEXE =] 1,500,000 +25CH 37,500
oEZEXE 7= 55,200
2= 1,40024%130 £ x20CH* 122 43,680
-Fleg= 1,600& %120 £ *5CH* 12 11,520
202 04| 4,800 4,000 800
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SA: ML
M THak2te
el SSTAE 2e (Gt H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
01 =LHo1b 4,800 4,000 800
o3BT 2HIPR T ol
10,0003 x4+ 120 4,800
SFMa2C 14,820 18,420 A3,600
201 fet=2 3| 13,420 17,020 A3,600
01 AtR2t2|HI 13,420 13,420 0
TR ZHEIELR
700,000 x624 4,200
oEFMY EE2 700,000 x624 4,200
oZR M Aolg AolH
70,0002 x0H #43] 2,520
oEzFMA HF & Ui ARSE
100,000& *55+43] 2,000
oZFMA ARNF o2 & HIS7Y
500,000 *14] 500
202 04l 1,400 1,400
01 2o 1,400 1,400
cZSTA AEhstol
10,0002 x2&+70 1,400
=32l 5,700 5,875 A175
201 etz 3| 5,700 5,875 AT75
01 AtR2te|HI 4,700 4,875 AT75
oRFID SS2ACIAAE ARS $ MRES 2
= 4,700
-cHEER 2503 *2,500&*4E 2,500
-HIZE 1,000&+1,000& 1,000
THEEA S A2BE
100,000 ~12& 1,200
2 S22l 1,000 1,000 0
oRFID SEQIA! 2IHI| =& JX
200,000 +5CH 1,000
EArzel 2,145,712 3,608,793 1,463,081
AR 2tel 1,296,712 1,005,793 290,919
101 @124H| 56,469 53,723 2,746
MU IIRIMZZENSES 56,469 53,723 2,746
oFAL Z2tc| JIZHHZ2 A 12|
9,620 1H*209Al 2+ 12 24,127
oHAL S22l JIZHZ2Z2 X =2 PE
9,620 *2A| 2++3002 +150% 8,658
oA Eacl JIZtHZ22 X 4UEE
24,127,000& *12% 2,8%
oFAL 22| JIZNZZ2XN ElXS
2,011,000& %12 2,011
oF AR HAIZZZX Q12|
9,6203 x 1 *104A1 2t 128 12,006
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2A: K3 H
S THARZE
el ARz EER=E)
SIA - BE - O9I(BI) - HIRAIY - S Ofl b G o HIR=2
oFAtZE| HHAIZIZZ2X Z2RY
9,620 x 1Y 1Al 23002 *150% 4,329
o&AtZte| CHAIZIZ2 2R AHEE
12,006,000 *12% 1,441
oHArZE| A2 2R &2
1,001,000 *12] 1,001
201 LB-2AY| 1,157,043 885,670 271,373
01 AtR2elt] 181,048 144,928 36,120
oFAF otEzZe| 2H 42,800
-EA dD|etE e 89
900,000& 123 10,800
B AR AgoE | B
600,000& * 122 7,200
~HAF Moot EY(2H, SH)
10,000,000 & 23] 20,000
AL S| etEEe 29
400,000 *123] 4,800
oA HHEAS 500,000 *83! 4,000
oXIGHIE HA & SHXl HA
3,000,000 *13] 3,000
oE2 AAS(OHY) HA
3,000,000 *13| 3,000
oAl 283 BAR
2,500,000& 22| 5,000
CHM BATUIE B, = 7Y
150,0002 123 10& 18,000
oHAL A B2Y 5,000,000& *43| 20,000
odldl, 801 S eXz K=
3,000,000& *123] 36,000
ocFAZe 2EFY 39,248
-EA SHEA EA T Y
500,000& =123 6,000
-EA 2elE T +2S
2,000,000 *43| 8,000
“HAF 22| MYDISE 2
1,040 *25001 = 122 3,120
-EA StEA SHEX 7Y
850,000& =123 10,200
“EA BEA HCEE 7Y
350,000& 12 4,200
“EAL SHEA HEH 2
8,000& 18I 12& 1,728
“EA ZZ4 59, Sl 2
500,000 43| 2,000
“HAHR,89) TF4 B TFI| 7Y
8,000 *5007H4 4,000
o232 ZAF 22| H| 200,000& =12 2,400
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SN NP2 A D
M THat2C

el ARz EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
CREAl BELUEY X2
1,000,000& %12 1,000
SHARRIQR YEEE 7Y
200,000 x3H*23] 1,200
oEZFMA X FARZZIESR =N SEHI
8,000 x5H »135& 5,400
02 S22l 975,99 740,742 235,253
oA R3S 240,000
-AFER 20,000,000& «12& 240,000
o283 85323 35,0002~ 122 420
oA Aot 23 24,000
NE=1= 2,000,000& «12& 24,000
o XNgMHE SH=lbl 600,000,000& *13] 600,000
oA 2L M2 1,000,000 *2H 2,000
oAb D] HH 90,0002 *100CH 9,000
oHAL AIEEHI KA
5,000& »8,453m" 42,265
oA BE £=c| 780,000 2K 1,560
oEHA 2B EEo LA
2,000,000 *43 8,000
oFA Zd4 &F &Y
7,500,000 12 7,500
ot 2] TADIARS 41,250
—TEAL ZAIDIA AIBR
1,10024+35,000m* 38,500
ZHAF SAIDIA AFE 2
1,100 *2,500m* 2,750
202 04l 3,200 2,400 800
01 SLHoIH 3,200 2,400 800
oML & AR =
10,0003 x4 80 3,200
405 KHoHFSHI 80,000 64,000 16,000
01 ML ESFSHI 80,000 64,000 16,000
oAl =2HIS WA 40,000
- AMREH UHTY
500, 000& »20K 10,000
-2 2k S uH 300,000 %100 30,000
oA HIS ¥
5,000,000 «8 Al 40,000
WS AR Ot 186,000 330,000 144,000
401 AIEHIZ SR THYI 186,000 330,000 144,000
01 Al&HI 186,000 330,000 144,000
oFA 2 ANEE B SA
150,000,000 * 14| 150,000
oz ALY SY A B3 AL AAIEAHHI
3,000,000 * 1290 2 36,000
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FA MR A
B Qarze
el ARz EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
S8 FArzel 633,000 273,000 360,000
401 Al HIZL 201 568,000 208,000 360,000
01 Al&HI 566,000 206,000 360,000
oSH HHEXHH RAEE B
6,000,000 1100 £ 66,000
SHAD BESTME HoBA
500,000,000 *14] 500,000
03 AlE220HHI 2,000 2,000 0
oF - O BH=TME Po
2,000,000& *14] 2,000
405 AtatE = 65,000 65,000
01 ML ESFSHI 65,000 65,000
oMad HISAHE HIIuH
10,000,000& x12] 10,000
oZ o WHTME L& ARHE S 7
= 5,000,000+ 11EH 55,000
3| EAF &= 30,000 500,000 A470,000
401 Al HIZL 01| 30,000 500,000 A470,000
03 Al 20HHI 30,000 10,000 20,000
=23 A A= SAF R0
30,000,000& »14] 30,000
YA (IR 176,811 180,199 A3,388
= 22,602
= 154,209
el 2| 112,911 118,399 Ab,488
= 22,602
= 90,309
el 2dd| 64,911 73,59 8,688
101 @124H| 64,911 73,599 N\8,688
01 &2 64,911 73,59 A\8,688
oAt 22+E
11,1303 +22E #1BAI 2t 123 52,890
SAIRlSl 2R4Y(SVBLY)
11, 1303 x5 *18AI 2H= 123 12,021
JHEREH DFA T AL QI24H| X~ 48,000 44,800 3,200
= 22,602
= 25,398
101 @124H| 43,400 40,000 3,400
= 20,602
Ea 22,798
03 SRH(RIH )22 U2+ 43,400 40,000 3,400
Si=r= 2,000,000« 1H =122 24,000
= 12,000
s 12,000
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N3] H 2t

A HZYRIZHI(HRH)
s lIEE2ghl EER=E)
SA - BE - SHAEH) - LA - BAS ofl &t G o HIDEZ
oXRg 160,000 x 12 * 122 1,920
= 802
= 1,118
oIESH 40,0002 x 1+ 122 480
oJ|2eE 2,000,000 1 *400% 8,000
= 4,000
[Ea 4,000
oFaLY 2,000, 00024124251 x35% 1,400
SL=EESIG] 2,000, 000! 12 %25 «60% 2,400
= 1,200
2 1,200
oAlZtRl 2R agt
15,0002 x 1 *20A1 2t 122 3,600
= 1,800
T 1,800
oI at| 10,0003 +8AI 21 +20 1,600
= 800
Ea 800
M HASFESS 4,600 4,800 A200
= 2,000
o 2,600
4 SRE(RIAHN) 22X BEEHERE2 S 4,600 4,800 2200
oz EE= 40,000,000 *4. 5% 1,800
= 900
T 900
ocALEEE 40,000,000 *4% 1,600
= 800
Ea 800
olE A MMHEER 40,000,000 *3% 1,200
= 300
o 900
=3l 63,900 61,800 2,100
Jl=2&Hl 63,900 61,800 2,100
201 er23| 20,380 18,340 2,040
01 At2tltl 20,380 18,340 2,040
odll ARES S 4223
15,0002 105122 1,800
ocHMIZSE 250,000 *23] 500
od2+J| A5 50,000& *62 300
oIZlH & AP EY
250,000 +BLH*4H 8,000
oS ALEX 25,0003 x152F A« 123 4,500
olE A= 5,280
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2A: K3 H
M #RSHAH| (W2
&elr D=3l (St &)
SIA - BE - O9I(BI) - HIRAIY - S Ofl b G o HIR=2
-S2A 20,0003 +752+ 123 1,680
NE=ION 15,0002 x20* 123 3,600
203 HRF=&lY| 43,520 43,460 60
01 J|2A2YHRF=&IH| 38,300 38,300 0
S s 9,575,000& *4= 7| 38,300
M 2GRS 5,220 5,160 60
o300 F=1t
(400,000&+(5,000&+7Y ) )x12& 5,220
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